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1. In Operant conditioning procedure, the role of reinforcement is:
(a) Strikingly significant

(b) Very insignificant

(c) Negligible

(d) Not necessary

(e) None of the above

ADVERTISEMENTS:

2. According to Skinnerian Operant conditioning theory, a negative reinforcement is:

(a) Nothing but punishment

(b) A biofeedback

(c) A withdrawing or removal of a positive reinforcer

(d) An instinctive drift

(e) None of the above

3. Behaviour therapists believe that the respondent or classical conditioning is

effective in dealing with the non-voluntary automatic behaviour, whereas the operant

one is successful predominantly with motor and cognitive behaviours, Thus,

unadaptive habits such as nail biting, trichotillomania, enuresis encopresis, thumb

sucking etc. are satisfactorily dealt within the :
(a) Classical Method

(b) Operant Method

(c) Trial and Error Method

(d) Insightful learning procedure

(e) None of the above
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4. Current positive reinforcement requires the individual to imagine performing a

particular task or behaviour followed by a:

(a) Negative consequence

(b) Zero consequence

(c) Positive Consequence

(d) Neutral consequence

(e) None of the above

5. Aversion is one of the conditioning procedures used in:

(a) Non-directive therapy

(b) Psychoanalytic therapy

(c) Behaviour therapy

(d) Chemotherapy

(e) None of the above

6. A very useful principle of learning is that a new response is strengthened by:

(a) Punishment

(b) Reinforcement

(c) Biofeedback

(d) Discriminative Stimulus

(e) None of the above

7. In continuous reinforcement schedule (CRF), every appropriate response:

(a) Is reinforced

(b) Is not reinforced

(c) Is sometimes reinforced

(d) Is an instinctive drift




(e) None of the above

8. The continuous reinforcement schedule is generally used:

(a) In the last part of training

(b) In early stages of training

(c) In the middle period of training

(d) In both last and first part of training

(e) None of the above

9. In real life, reinforcement of every response (CRF) is:

(a) Of the nature of an exception rather than the rule

b) Impossible

(c) Necessary

(d) Not necessary

(e) None of the above

10. Which schedule of reinforcement is a ratio schedule stating a ratio of responses to

reinforcements?
(a) Variable Ratio Schedule

(b) Fixed Interval Schedule

(c) Variable Interval Schedule

(d) Fixed Ratio Schedule

(e) None of the above




